## Article

# Boundary Value Problems for the Perturbed Dirac Equation 

Hongfen Yuan *(©), Guohong Shi and Xiushen Hu

School of Mathematics and Physics, Hebei University of Engineering, Handan 056038, China; shiguohong@hebeu.edu.cn (G.S.); gbc3113424@163.com (X.H.)

* Correspondence: yuanhongfen@hebeu.edu.cn

Citation: Yuan, H.; Shi, G.; Hu, X. Boundary Value Problems for the Perturbed Dirac Equation. Axioms 2024, 13, 238. https://doi.org/ 10.3390/axioms13040238

Academic Editor: Nicolae Lupa
Received: 3 March 2024
Revised: 29 March 2024
Accepted: 1 April 2024
Published: 4 April 2024


Copyright: © 2024 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/).


#### Abstract

The perturbed Dirac operators yield a factorization for the well-known Helmholtz equation. In this paper, using the fundamental solution for the perturbed Dirac operator, we define Cauchytype integral operators (singular integral operators with a Cauchy kernel). With the help of these operators, we investigate generalized Riemann and Dirichlet problems for the perturbed Dirac equation which is a higher-dimensional generalization of a Vekua-type equation. Furthermore, applying the generalized Cauchy-type integral operator $\tilde{F}_{\lambda}$, we construct the Mann iterative sequence and prove that the iterative sequence strongly converges to the fixed point of operator $\tilde{F}_{\lambda}$.


Keywords: perturbed Dirac equation; Cauchy-type integral operator; Clifford analysis
MSC: 30G35; 45J05

## 1. Introduction

A large number of interesting physical applications, for instance, problems in elasticity theory of shells and in gas dynamics, lead to so-called Vekua-type problems [1,2]. The Vekua-type problem is natural to generalize the function theory to higher dimensions. In Clifford algebra framework, the Dirac equation perturbed by a constant, i.e., $\left(\partial_{x}-\lambda\right) u=f$, where $\lambda$ is a constant and $u$ and $f$ are Clifford algebra-valued functions [3]. In this paper, we study boundary value problems for Clifford algebra-valued partial differential equation.

Real Clifford analysis is a hyper-complex function theory defined in space $\mathbf{R}^{m}$ and taking values in Clifford algebra (named after William Kingdon Clifford [4]), referred to as the study of this extension of complex analysis [5-8]. Developing the corresponding theories in the Clifford analysis framework comparing with the theories in classical complex analysis is natural and interesting. In [9,10], some boundary value problems in Clifford analysis are studied, such as boundary value problems for plurigeneralized regular and pluri-Beltrami equations are considered, where pluriregular equations are related to the generalized Laplace equations, etc. In [11], Riemann-type boundary value problems are studied for the Helmholtz equations in Clifford analysis. Here, a Helmholtz equation is an elliptic partial differential equation which is regarded as the perturbed Laplace equation. It is a remarkable fact that the perturbed Dirac operators yield a factorization for the well-known Helmholtz equation. As far as we know, the related Riemann and Dirichlet problems for the perturbed Dirac equation have little studies in Clifford analysis. In [12], boundary value problems for the perturbed Dirac operators are studied based on Maxwell's system. In [13], applying Almansi-type expansions, the first author considered Riemanntype problems for the modified Dirac equation perturbed by a constant. In this paper, applying the theory of singular integral operators, we investigate generalized Riemann and Dirichlet problems for the perturbed Dirac equation.

The paper is organized as follows. In Section 2, we review some results on the theory of the perturbed Dirac operator in Clifford analysis, necessary for later. In Section 3, we introduce Cauchy-type integral operators (i.e., the integral operators with a Cauchy kernel) and the Plemelj formula for the perturbed operator. In Section 4, we introduce a integral
operator to transform boundary value problems into integral equation problems. Then, we use the theory of integral equation and fixed point theory to prove the existence of solutions to boundary value problems and provide an integral expression for the solution. In Section 5, we investigate a kind of generalized Dirichlet problem for the perturbed Dirac equation by Cauchy-type integral operators. In Section 6, we define a Cauchy-type integral operator $\tilde{F}_{\lambda}$. Furthermore, we construct the Mann iterative sequence of operator $\tilde{F}_{\lambda}$ and prove that the iterative sequence strongly converges to the fixed point of operator $\tilde{F}_{\lambda}$.

## 2. Preliminaries

In this section, we briefly review some notions and basic facts about the perturbed Dirac operator in Clifford analysis which will be useful in the future. For more details, we refer the reader to the literature, e.g., [3-8].

### 2.1. Perturbed Dirac Operator

Clifford analysis is the study of the null solutions of Dirac operators. The Dirac operator is the generalization of the Cauchy Riemann operator in higher-dimensional spaces. When working over $\mathbf{R}^{m}$, this Dirac operator is defined by

$$
\partial_{x}=\sum_{i=1}^{m} e_{i} \partial_{x_{i}},
$$

where the $e_{i}$ values form an orthonormal basis of $\mathbf{R}^{m}$ and satisfy the defining relations of the real $2^{m}$-dimension Clifford algebra $C l_{m}$, i.e.,

$$
e_{i} e_{j}+e_{j} e_{i}=-2 \delta_{i j}, \quad i, j=1, \cdots, m
$$

One of the important elements is the vector variable $x=\sum_{i=1}^{m} x_{i} e_{i}$.
We let $\Omega \in \mathbf{R}^{m}$. Function $f$ can be written as $f=\sum_{A} f_{A}(x) e_{A}$ with $f_{A}(x) \in C^{k}(\Omega)$. We denote $|f|=\left(\sum_{A}\left[f_{A}(x)\right]^{2}\right)^{\frac{1}{2}}$ to be the norm of $f$.

The perturbed Dirac operator is defined by

$$
\partial_{x}-\lambda=\sum_{i=1}^{m} e_{i} \partial_{x_{i}}-\lambda .
$$

We denote $\operatorname{ker}\left(\partial_{x}-\lambda\right)=\left\{f \mid\left(\partial_{x}-\lambda\right) f=0, \quad f \in C^{1}\left(\Omega ; C l_{m}\right)\right\}$.

### 2.2. Fundamental Solutions for the Perturbed Dirac Operator

The fundamental solution for the Dirac operator is defined by

$$
E(x)=-\frac{1}{\omega_{m}} \frac{x}{|x|^{m}}
$$

where $\omega_{m}=\frac{(2 \pi)^{\frac{m}{2}}}{\Gamma\left(\frac{m}{2}\right)}$ is the area of the unit sphere in $\mathbf{R}^{m}$.
Definition 1 ([3]). The fundamental solution for operator $\partial_{x}-\lambda$, with $\lambda \in \mathbf{R}$, is defined by

$$
E_{\lambda}(x)=-\frac{\pi}{\omega_{m} \Gamma\left(\frac{m}{2}\right)}\left(\frac{\lambda}{2}\right)|x|^{1-\frac{m}{2}}\left[Y_{\left(\frac{m}{2}\right)-1}(\lambda|x|)-\frac{x}{|x|} Y_{\frac{m}{2}}(\lambda|x|)\right]
$$

where $Y_{v}(x)$ and $J_{v}(x)$ are the Bessel functions of, respectively, the first and second kind ([14]), namely

$$
\begin{gathered}
Y_{v}(x)=\frac{\cos v \pi J_{v}(x)-J_{-v}(x)}{\sin v \pi} \\
J_{v}(x)=\left(\frac{x}{2}\right)^{v} \sum_{l=0}^{\infty} \frac{\left(\frac{i x}{2}\right)^{2 l}}{l!\Gamma(v+l+1)}
\end{gathered}
$$

Lemma 1 ([3]). $E_{\lambda}(x)$ has the following properties:
(i)

$$
\left(\partial_{x}-\lambda\right) E_{\lambda}(x)=E_{\lambda}(x)\left(\partial_{x}-\lambda\right)=\delta(x)
$$

where $\delta(x)$ is the Dirac distributional in $\mathbf{R}^{m}$.
(ii) $E_{\lambda}(x)$ behaves like $E(x)$ near $x=0$, i.e.,

$$
E(x) \sim-\frac{1}{\omega_{m}} \frac{x}{|x|^{m}}
$$

for $|x| \rightarrow 0$.
Lemma 2 ([3]). Assume that $\Omega \in \mathbf{R}^{m}$, where $\Omega$ is an $m$-dimensional compact differentiable and oriented manifold-with-boundary. If $f(x) \in C\left(\Omega ; C l_{m}\right)$, then

$$
\int_{\partial \Omega} E_{\lambda}(x-y) d \sigma_{x} f(x)-\int_{\Omega} E_{\lambda}(x-y)\left[\left(\partial_{x}-\lambda\right) f(x)\right] d x=\left\{\begin{array}{l}
f(y), y \in \Omega \\
0, \quad y \in \mathbf{R}^{m} \backslash \bar{\Omega}
\end{array}\right.
$$

## 3. Cauchy-Type Integral Operator

Definition 2 ([15]). A compact surface $\Gamma$ is called a Liapunov surface with Hölder exponent $\alpha$ if the following conditions are satisfied:
(i) At each point $x \in \Gamma$, there is a tangential plane.
(ii) There exists a number $r$, that for any point $x \in \Gamma$, the set $\Gamma \cap B_{r}(x)$ (Liapunov ball) is connected and parallel lines to the outer normal $n(x)$ intersect at not more than one point.
(iii) The normal $n(x)$ is Hölder continuous on $\Gamma$, i.e., there are constants $M>0$ and $0<\alpha<1$, such that for $x, y \in \Gamma$,

$$
|n(x)-n(y)| \leq M|x-y|^{\alpha} .
$$

Definition 3 ([3]). Assume that $\Omega \subset R^{m}$ with Liapunov boundary $\partial \Omega$. And let $0<\alpha<1$. If $f(x)$ satisfies

$$
\left|f\left(x_{1}\right)-f\left(x_{2}\right)\right| \leq M\left|x_{1}-x_{2}\right|^{\alpha}, \quad x_{1}, x_{2} \in \partial \Omega,
$$

then $f(x): \partial \Omega \rightarrow C l_{m}$ is said to be Hölder continuous on $\partial \Omega$ with index $\alpha$. We denote by $C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$ the set of all Hölder-continuous function on $\partial \Omega$ with index $\alpha$.

Remark 1. The $(m-1)$ differential form $d \sigma=\sum_{i=1}^{m} e_{i} d \widehat{x}_{i}$, where $d \widehat{x}_{i}=d x_{1} \wedge \cdots \wedge d x_{i-1} \wedge$ $d x_{i+1} \wedge \cdots d x_{m}$. If $d S$ stands for the classical surface element and $\vec{n}=\sum_{i=1}^{m} e_{i} n_{i}$, where $n_{i}$ is the $i$ th component of the unit outward normal vector, then the surface element $d \sigma=\vec{n} d S$.

Definition 4. The integral operator is defined by

$$
\begin{equation*}
\left(F_{\lambda} f\right)(y)=\int_{\partial \Omega} E_{\lambda}(x-y) d \sigma_{x} f(x) \tag{1}
\end{equation*}
$$

For $y \in \mathbf{R}^{m} \backslash \partial \Omega, f(y) \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$, it is clear that the integral on the right side of Formula (1) is well defined. For $y \in \partial \Omega$, it is a singular integral. Thus, we offer the definition as follows.

Definition 5. For $y_{0} \in \partial \Omega$, the Cauchy principal value of a singular integral for a perturbed Dirac is defined by

$$
\begin{equation*}
\operatorname{P.V.}\left(F_{\lambda} f\right)(y)=\lim _{r \rightarrow 0} \int_{\partial \Omega \backslash B_{\partial \Omega}\left(y_{0}, r\right)} E_{\lambda}\left(x-y_{0}\right) d \sigma_{x} f(x), \tag{2}
\end{equation*}
$$

where $B_{\partial \Omega}\left(y_{0}, r\right)$ is denoted as the part of $\partial \Omega$ lying in the interior of sphere $B$ with the center at $y_{0}$ and radius $r>0$.

In the future, we will need the following lemma.
Lemma 3 ([4]). Assume that $x, y \in R^{m}$, with $m \geq 2, l \geq 0$, are integers. Then,

$$
\left|\frac{x}{|x|^{l+2}}-\frac{y}{|y|^{l+2}}\right| \leq \begin{cases}|x-y| \sum_{k=0}^{l} \frac{1}{|x|^{k+1}|y|^{l+1-k}}, & m \neq 0 \\ \frac{|x-y|}{|x|^{l+1}|y|^{l+1}}, & m=0\end{cases}
$$

Now, we prove the following important lemma. The lemma offers an estimate of the fundamental solution for the perturbed Dirac operator.

Lemma 4. If $y_{1}, y_{2} \neq x$, then

$$
\begin{aligned}
& \left|E_{\lambda}\left(x-y_{1}\right)-E_{\lambda}\left(x-y_{2}\right)\right| \\
\leq & C_{1}\left|y_{2}-y_{1}\right| \sum_{i=0}^{\frac{m}{2}-1} \frac{1}{\left|x-y_{1}\right|^{m-2-i}\left|x-y_{2}\right|^{1+i}} \\
& +C_{2}\left|y_{2}-y_{1}\right| \sum_{i=0}^{\frac{m}{2}-1} \frac{1}{\left|x-y_{1}\right|^{\frac{m}{2}-1-i}\left|x-y_{2}\right|^{\frac{m}{2}+i}} \\
& +C_{3}\left|y_{1}-y_{2}\right| \sum_{i=0}^{\frac{m}{2}} \frac{1}{\left|x-y_{1}\right|^{\frac{m}{2}-2-i}\left|x-y_{2}\right|^{\frac{m}{2}+1+i}} \\
& +C_{4}\left|y_{1}-y_{2}\right| \sum_{i=0}^{\frac{m}{2}} \frac{1}{\left|x-y_{1}\right|^{m-2-i}\left|x-y_{2}\right|^{1+i}} .
\end{aligned}
$$

Proof of Lemma 4. By Definition 1, we have

$$
\begin{aligned}
& E_{\lambda}\left(x-y_{1}\right)-E_{\lambda}\left(x-y_{2}\right) \\
= & -\frac{\pi\left(\frac{\lambda}{2}\right)^{\frac{m}{2}}}{\omega_{m} \Gamma\left(\frac{m}{2}\right)}\left|x-y_{1}\right|^{1-\frac{m}{2}}\left[Y_{\left(\frac{m}{2}\right)-1}\left(\lambda\left|x-y_{1}\right|\right)-\frac{x-y_{1}}{\left|x-y_{1}\right|} Y_{\frac{m}{2}}\left(\lambda\left|x-y_{1}\right|\right)\right] \\
& +\frac{\pi\left(\frac{\lambda}{2}\right)^{\frac{m}{2}}}{\omega_{m} \Gamma\left(\frac{m}{2}\right)}\left|x-y_{2}\right|^{1-\frac{m}{2}}\left[Y_{\left(\frac{m}{2}\right)-1}\left(\lambda\left|x-y_{2}\right|\right)-\frac{x-y_{2}}{\left|x-y_{2}\right|} Y_{\frac{m}{2}}\left(\lambda\left|x-y_{2}\right|\right)\right]
\end{aligned}
$$

We let $m$ be even. By Lemma 3, we have

## Similarly, we obtain

$$
\begin{aligned}
\left|I_{2}\right|= & \left|\frac{x-y_{2}}{\left|x-y_{2}\right|^{\frac{m}{2}}} Y_{\frac{m}{2}}\left(\lambda\left|x-y_{2}\right|\right)-\frac{x-y_{1}}{\left|x-y_{1}\right|^{\frac{m}{2}}} Y_{\frac{m}{2}}\left(\lambda\left|x-y_{1}\right|\right)\right| \\
\leq & \left|\frac{x-y_{2}}{\left|x-y_{2}\right|^{\frac{m}{2}}} Y_{\frac{m}{2}}\left(\lambda\left|x-y_{2}\right|\right)-\frac{x-y_{1}}{\left|x-y_{1}\right|^{\frac{m}{2}}} Y_{\frac{m}{2}}\left(\lambda\left|x-y_{2}\right|\right)\right| \\
& +\left|\frac{x-y_{1}}{\left|x-y_{1}\right|^{\frac{m}{2}}} Y_{\frac{m}{2}}\left(\lambda\left|x-y_{2}\right|\right)-\frac{x-y_{1}}{\left|x-y_{1}\right|^{\frac{m}{2}}} Y_{\frac{m}{2}}\left(\lambda\left|x-y_{1}\right|\right)\right| \\
\leq & \left|\frac{x-y_{2}}{\left|x-y_{2}\right|^{\frac{m}{2}}}-\frac{x-y_{1}}{\left|x-y_{1}\right|^{\frac{m}{2}}}\right|\left|Y_{\frac{m}{2}}\left(\lambda\left|x-y_{2}\right|\right)\right| \\
& +\left|\frac{x-y_{1}}{\left|x-y_{1}\right|^{\frac{m}{2}}}\right|\left|Y_{\frac{m}{2}}\left(\lambda\left|x-y_{2}\right|\right)-Y_{\frac{m}{2}}\left(\lambda\left|x-y_{1}\right|\right)\right|
\end{aligned}
$$

$$
\begin{aligned}
\leq & C_{3}\left|x-y_{2}\right|^{-\frac{m}{2}}\left|y_{1}-y_{2}\right| \sum_{i=0}^{\frac{m}{2}} \frac{1}{\left|x-y_{1}\right|^{\frac{m}{2}-2-i}\left|x-y_{2}\right|^{1+i}} \\
& +C_{4}\left|x-y_{1}\right|^{-\frac{m}{2}}\left|y_{1}-y_{2}\right| \sum_{i=0}^{\frac{m}{2}} \frac{1}{\left|x-y_{1}\right|^{\frac{m}{2}-2-i}\left|x-y_{2}\right|^{1+i}} \\
\leq & C_{3}\left|y_{1}-y_{2}\right| \sum_{i=0}^{\frac{m}{2}} \frac{1}{\left|x-y_{1}\right|^{\frac{m}{2}-2-i}\left|x-y_{2}\right|^{\frac{m}{2}+1+i}} \\
& +C_{4}\left|y_{1}-y_{2}\right| \sum_{i=0}^{\frac{m}{2}} \frac{1}{\left|x-y_{1}\right|^{m-2-i}\left|x-y_{2}\right|^{1+i}} .
\end{aligned}
$$

Thus, we have

$$
\begin{aligned}
& \left|E_{\lambda}\left(x-y_{1}\right)-E_{\lambda}\left(x-y_{2}\right)\right| \\
\leq & C_{1}\left|y_{2}-y_{1}\right| \sum_{i=0}^{\frac{m}{2}-1} \frac{1}{\left|x-y_{1}\right|^{m-2-i}\left|x-y_{2}\right|^{1+i}} \\
& +C_{2}\left|y_{2}-y_{1}\right| \sum_{i=0}^{\frac{m}{2}-1} \frac{1}{\left|x-y_{1}\right|^{\frac{m}{2}-1-i}\left|x-y_{2}\right|^{\frac{m}{2}+i}} \\
& +C_{3}\left|y_{1}-y_{2}\right| \sum_{i=0}^{\frac{m}{2}} \frac{1}{\left|x-y_{1}\right|^{\frac{m}{2}-2-i}\left|x-y_{2}\right|^{\frac{m}{2}+1+i}} \\
& +C_{4}\left|y_{1}-y_{2}\right| \sum_{i=0}^{\frac{m}{2}} \frac{1}{\left|x-y_{1}\right|^{m-2-i}\left|x-y_{2}\right|^{1+i}} .
\end{aligned}
$$

By reduction of fractions to a common denominator and numerator rationalization, we have the conclusion that case $m$ is odd.

If $\Omega=\Omega^{+}$and $\Omega^{-}=\mathbf{R}^{m} \backslash \bar{\Omega}$, then we consider the limit of the Cauchy principal value of a singular integral,

$$
\begin{aligned}
& \left(F_{\lambda}^{+} f\right)(y)=\left\{\begin{array}{l}
\left(F_{\lambda} f\right)(y), y \in \Omega^{+} \\
\operatorname{P.V.}\left(F_{\lambda} f\right)(y)+\frac{1}{2} f(y), \quad y \in \partial \Omega
\end{array}\right. \\
& \left(F_{\lambda}^{-} f\right)(y)=\left\{\begin{array}{l}
\left(F_{\lambda} f\right)(y), y \in \Omega^{-} \\
\operatorname{P.V.}\left(F_{\lambda} f\right)(y)-\frac{1}{2} f(y), \quad y \in \partial \Omega
\end{array}\right.
\end{aligned}
$$

where P.V. $\left(F_{\lambda} f\right)(y)$ is defined in Formula (2).
Theorem 1. If $f \in C_{\alpha}\left(\Omega ; C l_{m}\right)$, then $\left(F_{\lambda}^{+} f\right)(y) \in C_{\alpha}\left(\overline{\Omega^{+}} ; C l_{m}\right)$ and $\left(F_{\lambda}^{-} f\right)(y) \in C_{\alpha}\left(\overline{\Omega^{-}} ; C l_{m}\right)$.
Proof of Theorem 1. We only prove $\left(F_{\lambda}^{+} f\right)(y) \in C_{\alpha}\left(\overline{\Omega^{+}} ; C l_{m}\right) .\left(F_{\lambda}^{-} f\right)(y) \in C_{\alpha}\left(\overline{\Omega^{-}} ; C l_{m}\right)$ may be proved analogously.

We first prove the fact that

$$
\int_{\partial \Omega} E_{\lambda}(x-y) d \sigma_{x}=\frac{1}{2}, \quad y \in \partial \Omega
$$

For any $y \in \partial \Omega, B_{\partial \Omega}(y, \delta)$ is the restriction to $\partial \Omega$ of the ball centered at $y$ and of radius $\delta$. Then,

$$
\begin{aligned}
& \lim _{\delta \rightarrow 0} \int_{B_{\partial \Omega}(y, \delta)} E_{\lambda}(x-y) d \sigma_{x} \\
= & \lim _{\delta \rightarrow 0} \int_{B_{\partial \Omega}(y, \delta)}\left(E_{\lambda}(x-y)+\frac{1}{\omega_{m}} \frac{x-y}{|x-y|^{m}}\right) d \sigma_{x}-\lim _{\delta \rightarrow 0} \int_{B_{\partial \Omega}(y, \delta)} \frac{1}{\omega_{m}} \frac{x-y}{|x-y|^{m}} d \sigma_{x} \\
= & -\lim _{\delta \rightarrow 0} \int_{B_{\partial \Omega}(y, \delta)} \frac{1}{\omega_{m}} \frac{x-y}{|x-y|^{m}} d \sigma_{x} \\
= & -\lim _{\delta \rightarrow 0} \int_{B_{\partial \Omega}(y, \delta)} \frac{1}{\omega_{m}} \frac{x-y}{|x-y|^{m}} \frac{x-y}{|x-y|} d S=\frac{1}{2} .
\end{aligned}
$$

For the different values of $y$, we divide three cases to prove the result.
Case 1. For $y_{1}, y_{2} \in \partial \Omega$, it is enough to consider the case of $\left|y_{1}-y_{2}\right|$ being sufficiently small. We denote $\left|y_{1}-y_{2}\right|=\delta$.

$$
\begin{aligned}
& \left|P . V .\left(F_{\lambda} f\right)\left(y_{1}\right)-P . V .\left(F_{\lambda} f\right)\left(y_{2}\right)\right| \\
= & \left|\int_{\partial \Omega} E_{\lambda}\left(x-y_{1}\right) d \sigma_{x} f(x)-\int_{\partial \Omega} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x} f(x)\right| \\
\leq & \left|\int_{\partial \Omega} E_{\lambda}\left(x-y_{1}\right) d \sigma_{x}\left[f(x)-f\left(y_{1}\right)\right]-\int_{\partial \Omega} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x}\left[f(x)-f\left(y_{2}\right)\right]\right| \\
& +\left|\int_{\partial \Omega} E_{\lambda}\left(x-y_{1}\right) d \sigma_{x}\left[f\left(y_{1}\right)-f\left(y_{2}\right)\right]\right|+\left|\int_{\partial \Omega} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x}\left[f\left(y_{1}\right)-f\left(y_{2}\right)\right]\right| \\
& +\left|\int_{\partial \Omega} E_{\lambda}\left(x-y_{1}\right) d \sigma_{x} f\left(y_{2}\right)\right|+\left|\int_{\partial \Omega} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x} f\left(y_{1}\right)\right| \\
\leq & \left|\int_{\partial \Omega} E_{\lambda}\left(x-y_{1}\right) d \sigma_{x}\left[f(x)-f\left(y_{1}\right)\right]-\int_{\partial \Omega} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x}\left[f(x)-f\left(y_{2}\right)\right]\right| \\
& +\frac{1}{2}\left|y_{1}-y_{2}\right|^{\alpha}+\frac{1}{2}\left|y_{1}-y_{2}\right|^{\alpha}+\frac{1}{2}\left|f\left(y_{1}\right)\right|+\frac{1}{2}\left|f\left(y_{2}\right)\right| .
\end{aligned}
$$

We calculate the two integrals on the above inequality:

$$
\begin{aligned}
I= & \left|\int_{\partial \Omega} E_{\lambda}\left(x-y_{1}\right) d \sigma_{x}\left[f(x)-f\left(y_{1}\right)\right]-\int_{\partial \Omega} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x}\left[f(x)-f\left(y_{2}\right)\right]\right| \\
\leq & \left|\int_{\partial \Omega \backslash B_{\partial \Omega}\left(y_{1}, 2 \delta\right)} E_{\lambda}\left(x-y_{1}\right) d \sigma_{x}\left[f(x)-f\left(y_{1}\right)\right]-\int_{\partial \Omega \backslash B_{\partial \Omega}\left(y_{2}, 2 \delta\right)} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x}\left[f(x)-f\left(y_{2}\right)\right]\right| \\
& +\left|\int_{\partial_{\partial \Omega}\left(y_{1}, 4 \delta\right)} E_{\lambda}\left(x-y_{1}\right) d \sigma_{x}\left[f(x)-f\left(y_{1}\right)\right]\right| \\
& +\left|\int_{B_{\partial \Omega}\left(y_{2}, 4 \delta\right)} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x}\left[f(x)-f\left(y_{2}\right)\right]\right| \\
\leq & \mid \int_{\partial \Omega \backslash B_{\partial \Omega}\left(y_{1}, 2 \delta\right)} E_{\lambda}\left(x-y_{1}\right) d \sigma_{x}\left[f(x)-f\left(y_{1}\right)\right] \\
& -\int_{\partial \Omega \backslash \beta_{\partial \Omega}\left(y_{2}, 2 \delta\right)} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x}\left[f(x)-f\left(y_{2}\right)\right] \mid \\
& +\left|\int_{B_{\partial \Omega}\left(y_{1}, 4 \delta\right)} E\left(x-y_{1}\right) d \sigma_{x}\left[f(x)-f\left(y_{1}\right)\right]\right| \\
& +\left|\int_{B_{\partial \Omega}\left(y_{2}, 4 \delta\right)} E\left(x-y_{2}\right) d \sigma_{x}\left[f(x)-f\left(y_{2}\right)\right]\right| .
\end{aligned}
$$

We calculate the first absolute value inequality on the above inequality:

$$
\begin{aligned}
I_{1}= & \left|\int_{\partial \Omega \backslash B_{\partial \Omega}\left(y_{1}, 2 \delta\right)} E_{\lambda}\left(x-y_{1}\right) d \sigma_{x}\left[f(x)-f\left(y_{1}\right)\right]-\int_{\partial \Omega \backslash D_{\partial \Omega}\left(y_{2}, 2 \delta\right)} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x}\left[f(x)-f\left(y_{2}\right)\right]\right| \\
\leq & \left|\int_{\partial \Omega \backslash B_{\partial \Omega}\left(y_{1}, 2 \delta\right)}\left[E_{\lambda}\left(x-y_{1}\right)-E_{\lambda}\left(x-y_{2}\right)\right] d \sigma_{x}\left[f(x)-f\left(y_{1}\right)\right]\right| \\
& +\left|\int_{\partial \Omega \backslash B_{\partial \Omega}\left(y_{2}, 2 \delta\right)} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x}\left[f\left(y_{2}\right)-f\left(y_{1}\right)\right]\right| \\
= & I_{11}+I_{12} .
\end{aligned}
$$

Thus, by Lemma 4 and in view of $\partial \Omega$ being compact and $f \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$, there exists a positive constant $L_{0}$ independent of $y_{1}, y_{2}$ such that

$$
\begin{aligned}
I_{11} & =\left|\int_{\partial \Omega \backslash \partial_{\partial \Omega}\left(y_{1}, 2 \delta\right)}\left[E_{\lambda}\left(x-y_{1}\right)-E_{\lambda}\left(x-y_{2}\right)\right] d \sigma_{x}\left[f(x)-f\left(y_{1}\right)\right]\right| \\
& \leq C_{1}(m, \lambda) 2 \delta \int_{2 \delta}^{L_{0}} \frac{1}{\rho^{m-1}} \rho^{m-2} \rho^{\alpha} d \rho, \\
\leq & C_{1}(m, \lambda) 2 \delta \int_{2 \delta}^{L_{0}} \frac{1}{\rho^{2-\alpha}} d \rho \\
& =\int_{\partial \Omega \backslash B_{\partial \Omega}\left(y_{2}, 2 \delta\right)} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x}\left[f\left(y_{2}\right)-f\left(y_{1}\right)\right] \mid \\
& \leq C_{2}(m, \lambda) \delta^{\alpha} \int_{2 \delta}^{L_{0}} \frac{1}{\rho^{m-1}} \rho^{m-2} d \rho \\
& =C_{2}(m, \lambda) \delta^{\alpha} \int_{2 \delta}^{L_{0}} \frac{1}{\rho} d \rho .
\end{aligned}
$$

So we have

$$
I_{1} \leq C_{3}(m, \lambda) \delta^{\alpha} \ln \delta .
$$

Now we calculate the second absolute value inequality on the above inequality:

$$
\begin{aligned}
I_{2} & =\left|\int_{B_{\partial \Omega}\left(y_{1}, 4 \delta\right)} E_{\lambda}\left(x-y_{1}\right) d \sigma_{x}\left[f(x)-f\left(y_{1}\right)\right]\right| \\
& \leq C_{4}(m, \lambda) \int_{0}^{4 \delta} \frac{1}{\rho^{m-1}} \rho^{m-2} \rho^{\alpha} d \rho \\
& \leq C_{4}(m, \lambda) \delta^{\alpha} .
\end{aligned}
$$

Similarly, we have

$$
I_{3}=\left|\int_{B_{\partial \Omega}\left(y_{2}, 4 \delta\right)} E_{\lambda}\left(x-y_{2}\right) d \sigma_{x}\left[f(x)-f\left(y_{2}\right)\right]\right| \leq C_{5}(m, \lambda) \delta^{\alpha} .
$$

Thus, P.V. $\left(F_{\lambda} f\right)(y) \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$. It is easy to see that $\left(F_{\lambda}^{+} f\right)(y) \in C_{\alpha}\left(\overline{\Omega^{+}} ; C l_{m}\right)$ for $y_{1}, y_{2} \in \partial \Omega$.

Case 2. For $y_{1} \in \Omega, y_{2} \in \partial \Omega$, we prove

$$
\left|\left(F_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(F_{\lambda}^{+} f\right)\left(y_{2}\right)\right| \leq\left|y_{1}-y_{2}\right|^{\alpha} .
$$

Since $\partial \Omega$ is compact, for all $y_{1} \in \Omega$, there exists point $y_{\widetilde{1}}$ such that

$$
\left|y_{1}-y_{\tilde{1}}\right|=\inf _{y \in \partial \Omega}\left|y_{1}-y\right| .
$$

We also call $y_{\widetilde{1}}$ the nearest distance point between $y_{1}$ and $\partial \Omega$. Obviously, $y_{\tilde{1}}$ exists, but it is not unique. It satisfies

$$
\left|y_{2}-y_{\tilde{1}}\right| \leq 2\left|y_{2}-y_{1}\right|=2 \delta .
$$

Thus, we have

$$
\begin{aligned}
& \left|\left(F_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(F_{\lambda}^{+} f\right)\left(y_{2}\right)\right| \\
\leq & \left|\left(F_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(F_{\lambda}^{+} f\right)\left(y_{\tilde{1}}\right)\right|+\left|\left(F_{\lambda}^{+} f\right)\left(y_{\tilde{1}}\right)-\left(F_{\lambda}^{+} f\right)\left(y_{2}\right)\right| .
\end{aligned}
$$

We calculate the first part in the above inequality:

$$
\begin{aligned}
& \left|\left(F_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(F_{\lambda}^{+} f\right)\left(y_{\tilde{1}}\right)\right| \\
\leq & \left|\int_{\partial \Omega \backslash B_{\partial \Omega}\left(y_{1}, 2 \delta\right)}\left[E_{\lambda}\left(x-y_{1}\right)-E_{\lambda}\left(x-y_{\tilde{1}}\right)\right] d \sigma_{x}\left[f(x)-f\left(y_{\widetilde{1}}\right)\right]\right| \\
& +\left|\int_{B_{\partial \Omega}\left(y_{1}, 2 \delta\right)} E\left(x-y_{1}\right) d \sigma_{x}\left[f(x)-f\left(y_{\widetilde{1}}\right)\right]\right| \\
& +\left|\int_{B_{\partial \Omega}\left(y_{1}, 2 \delta\right)} E\left(x-y_{\tilde{1}}\right) d \sigma_{x}\left[f(x)-f\left(y_{\widetilde{1}}\right)\right]\right|=J_{1}+J_{2}+J_{3} .
\end{aligned}
$$

In view of $\left|y_{1}-y_{\tilde{1}}\right| \leq \delta$, and for $x \in \partial \Omega \backslash B_{\partial \Omega}\left(y_{\tilde{1}}\right)$, it holds

$$
\left|x-y_{1}\right| \leq 2\left|x-y_{\tilde{1}}\right|, \quad\left|x-y_{\tilde{1}}\right| \leq 2\left|x-y_{1}\right| .
$$

Thus, by Lemma 4 and in view of $\partial \Omega$ being compact and $f \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$, there exists a constant $\delta$ independent of $y_{1}, y_{2}$ such that

$$
J_{1} \leq C_{6}(m, \lambda) \delta^{\alpha} \ln \delta
$$

In view of $y_{\tilde{1}}$ being a nearest distance point between $y_{1}$ and $\partial \Omega$, $\left|x-y_{\tilde{1}}\right| \leq 2\left|x-y_{1}\right|$ holds for $x \in \partial \Omega$. Thus, we have

$$
J_{2} \leq C_{7}(m, \lambda) \delta^{\alpha}
$$

Similarly, it is easy to see that

$$
J_{3} \leq C_{8}(m, \lambda) \delta^{\alpha}
$$

From Case 1, we have

$$
\left|\left(F_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(F_{\lambda}^{+} f\right)\left(y_{2}\right)\right| \leq C_{9}(m, \lambda) \delta^{\beta}
$$

Thus, we have

$$
\left|\left(F_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(F_{\lambda}^{+} f\right)\left(y_{2}\right)\right| \leq\left|y_{1}-y_{2}\right|^{\alpha},
$$

where $y_{1} \in \Omega, y_{2} \in \partial \Omega$.

Case 3. For $y_{1}, y_{2} \in \Omega$, we denote $\left|y_{1}-y_{2}\right|=\delta$. Since segment $\overline{y_{1} y_{2}}$ and $\partial \Omega$ are compact, there exist $\widetilde{y} \in \overline{y_{1} y_{2}}, \widetilde{y} \partial \Omega \in \partial \Omega$ such that

$$
\left|y_{1}-y_{2}\right|=\inf _{y^{\prime} \in \frac{y_{1} y_{2}}{}, y^{\prime \prime} \in \partial \Omega}\left|y^{\prime}-y^{\prime \prime}\right| .
$$

We denote $\left|\widetilde{y}-\widetilde{y}_{\partial \Omega}\right|=\delta_{0}$.
(i) If $\delta_{0}=0$, then $\widetilde{y} \in \partial \Omega$. By Case 2 , we can see that

$$
\begin{aligned}
& \left|\left(F_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(F_{\lambda}^{+} f\right)\left(y_{2}\right)\right| \\
\leq & \left|\left(F_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(F_{\lambda}^{+} f\right)(\widetilde{y})\right|+\left|\left(F_{\lambda}^{+} f\right)(\widetilde{y})-\left(F_{\lambda}^{+} f\right)\left(y_{2}\right)\right| \\
\leq & C_{10}(m, \lambda)\left|y_{1}-y_{2}\right|^{\alpha} .
\end{aligned}
$$

(ii) If $\delta_{0}>0, \delta \geq \frac{1}{2} \delta_{0}$, then $\left|\tilde{y}_{1}-\widetilde{y}_{\partial \Omega}\right| \leq 3 \delta,\left|\widetilde{y_{2}}-\widetilde{y}_{\partial \Omega}\right| \leq 3 \delta, \widetilde{y} \in \partial \Omega$. By Case 2, we have

$$
\begin{aligned}
& \left|\left(F_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(F_{\lambda}^{+} f\right)\left(y_{2}\right)\right| \\
\leq & \left|\left(F_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(F_{\lambda}^{+} f\right)(\widetilde{y})\right|+\left|\left(F_{\lambda}^{+} f\right)(\widetilde{y})-\left(F_{\lambda}^{+} f\right)\left(y_{2}\right)\right| \\
\leq & C_{11}(m, \lambda)\left|y_{1}-y_{2}\right|^{\alpha} .
\end{aligned}
$$

(iii) If $\delta_{0}>0, \delta<\frac{1}{2} \delta_{0}$, then for any $x \in \partial \Omega$,

$$
\left|x-y_{1}\right| \leq 2\left|x-y_{2}\right|,\left|x-y_{2}\right| \leq 2\left|x-y_{1}\right|
$$

and

$$
\left|x-\tilde{y}_{\partial \Omega}\right| \leq 3\left|x-y_{1}\right|,\left|x-\tilde{y}_{\partial \Omega}\right| \leq 2\left|x-y_{2}\right| .
$$

By Case 2, we obtain

$$
\begin{aligned}
& \left|\left(F_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(F_{\lambda}^{+} f\right)\left(y_{2}\right)\right| \\
\leq & C_{12}(m, \lambda)\left|y_{1}-y_{2}\right|^{\alpha} \ln \left|y_{1}-y_{2}\right| .
\end{aligned}
$$

Thus, we find that

$$
\left|\left(F_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(F_{\lambda}^{+} f\right)\left(y_{2}\right)\right| \leq\left|y_{1}-y_{2}\right|^{\alpha},
$$

where $y_{1}, y_{2} \in \Omega$.
To sum up, we have the result.
Applying Theorem 1, we have the following theorem (i.e., Plemelj formula). For more details on Plemelj formula, you can refer to [7].

Theorem 2. For $f(x) \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$ and $y_{0} \in \partial \Omega$,

$$
\left\{\begin{array}{l}
\left(F_{\lambda}^{+} f\right)\left(y_{0}\right)=\text { P.V. }\left(F_{\lambda} f\right)\left(y_{0}\right)+\frac{1}{2} f\left(y_{0}\right), \\
\left(F_{\lambda}^{-} f\right)\left(y_{0}\right)=\text { P.V. }\left(F_{\lambda} f\right)\left(y_{0}\right)-\frac{1}{2} f\left(y_{0}\right),
\end{array}\right.
$$

or

$$
\left\{\begin{array}{l}
\left(F_{\lambda}^{+} f\right)\left(y_{0}\right)+\left(F_{\lambda}^{-} f\right)\left(y_{0}\right)=2 P . V .\left(F_{\lambda} f\right)\left(y_{0}\right), \\
\left(F_{\lambda}^{+} f\right)\left(y_{0}\right)-\left(F_{\lambda}^{-} f\right)\left(y_{0}\right)=f\left(y_{0}\right),
\end{array}\right.
$$

where $\left(F_{\lambda}^{+} f\right)\left(y_{0}\right)\left(\left(F_{\lambda}^{-} f\right)\left(y_{0}\right)\right)$ is the limit of $\left(F_{\lambda} f\right)(y)$ as $y \rightarrow y_{0}$ in $\Omega^{+}\left(\Omega^{-}\right)$.

## 4. A Generalized Riemann Problem for the Perturbed Dirac Equation

First, we offer the following definitions.
For $f \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$,

$$
\|f\|_{\alpha}=M(f, \partial \Omega)+H(f, \partial \Omega, \alpha)
$$

where

$$
M(f, \partial \Omega)=\sup _{t \in \partial \Omega}|f(t)|
$$

and

$$
H(f, \partial \Omega, \alpha)=\sup _{t_{1} \neq t_{2}, t_{1}, t_{2} \in \partial \Omega} \frac{\left|f\left(t_{1}\right)-f\left(t_{2}\right)\right|}{\left|t_{1}-t_{2}\right|^{\alpha}} .
$$

Thus, we consider the following boundary value problem: find a function $\Phi(x) \in C^{1}\left(\Omega ; C l_{m}\right)$, such that

$$
\left\{\begin{array}{l}
\left(\partial_{x}-\lambda\right) \Phi(x)=0, \quad x \in \mathbf{R}^{\mathbf{m}} \backslash \Omega  \tag{3}\\
a(t) \Phi^{+}(t)+b(t) \Phi^{-}(t)=g(t), \quad t \in \partial \Omega \\
\Phi^{-}(\infty)=0
\end{array}\right.
$$

where $a(t), b(t), g(t) \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$ are given functions.
Theorem 3. Suppose that $\left|2^{m} J\|a(t)+b(t)\|_{\alpha}+2^{m}\left\|1-\frac{a(t)+b(t)}{2}\right\|_{\alpha}\right|<1$, where $J$ is a constant and $a(t), b(t), g(t) \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$. Then Problem (11) has a unique solution

$$
\varphi(y)=\int_{\partial \Omega} E_{\lambda}(x-y) d \sigma_{x} \varphi(x)
$$

for $\varphi(x) \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$.
Proof of Theorem 3. We let $\varphi(x) \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$. Applying Theorem 2, Problem (3) is equivalent to solving the following singular integral equation in $\varphi$ :

$$
-[a(t)+b(t)] P . V \cdot \varphi(t)+\left(1-\frac{a(t)+b(t)}{2}\right) \varphi(t)+g(t)=\varphi(t) .
$$

We assume that the integral operator $G$ is defined by

$$
G \varphi(t)=-[a(t)+b(t)] P . V \cdot \varphi(t)+\left(1-\frac{a(t)+b(t)}{2}\right) \varphi(t)+g(t)
$$

From Theorem 1, we have P.V. $\varphi(t) \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$. It is easy to prove that $C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$ is a real Banach space. Note that

$$
\|f+g\|_{\alpha} \leq\|f\|_{\alpha}+\|g\|_{\alpha},\|f g\|_{\alpha} \leq 2^{m}\|f\|_{\alpha}\|g\|_{\alpha}, \quad f, g \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)
$$

By the fixed point theorem, we determine that $G$ is a contraction operator on $C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$. Furthermore, we have the result.

## 5. A Generalized Dirichlet Problem for the Perturbed Dirac Equation

Applying Lemma 2, we define operator $T_{\lambda}$ as follows:

$$
\left(T_{\lambda} f\right)(y)=\int_{\Omega} E_{\lambda}(x-y) f(x) d x
$$

where $E_{\lambda}(x)$ is defined as Definition 1.

Applying Lemma 2, we can define orthoprojections $P$ and $Q$ as follows:

$$
\begin{gather*}
(P f)(y)=\int_{\partial \Omega} E_{\lambda}(x-y) d \sigma_{x} f(x)  \tag{4}\\
(Q f)(y)=\int_{\Omega} E_{\lambda}(x-y)\left[\left(\partial_{x}-\lambda\right) f(x)\right] d x \tag{5}
\end{gather*}
$$

Theorem 4. If $f \in C^{2}\left(\Omega ; C l_{m}\right)$ and $g \in C^{2}\left(\partial \Omega ; C l_{m}\right)$, then the generalized Dirichlet problem

$$
\left\{\begin{array}{l}
\left(\partial_{x}-\lambda\right)^{2} \Phi(x)=f(x), \quad x \in \Omega  \tag{6}\\
\Phi(x)=g(x), \quad x \in \partial \Omega
\end{array}\right.
$$

has solution $\Phi \in C^{2}\left(\Omega ; C l_{m}\right)$ of the form

$$
\Phi=F_{\lambda} g+T_{\lambda} P\left(\partial_{x}-\lambda\right) h+T_{\lambda} Q T_{\lambda} f
$$

where $h \in C^{2}\left(\Omega ; C l_{m}\right)$ is a extension of $g$.
Proof of Theorem 4. First, we consider the following boundary value problem:

$$
\left\{\begin{array}{l}
\left(\partial_{x}-\lambda\right)^{2} \Phi_{1}(x)=f(x), \quad x \in \Omega  \tag{7}\\
\Phi_{1}(x)=0, \quad x \in \partial \Omega
\end{array}\right.
$$

Using Formulas (4) and (5), we have $P+Q=I$. That is to say, $Q f=f-P f$, where $P f \in \operatorname{ker}\left[\left(\partial_{x}-\lambda\right)^{2}\right]$. Let $\Psi=T_{\lambda} Q T_{\lambda} f$, then $\left(\partial_{x}-\lambda\right) \Psi=Q T_{\lambda} f$. Using $\partial_{x}-\lambda$ again, we determine that $\left(\partial_{x}-\lambda\right)^{2} \Psi=f(x)$. Because $T_{\lambda} Q f$ has vanishing boundary values, we determine that $\Psi$ is a solution of (7). Moreover, we can use this result to solve boundary value problem

$$
\left\{\begin{array}{l}
\left(\partial_{x}-\lambda\right)^{2} \Phi_{2}(x)=0, \quad x \in \Omega  \tag{8}\\
\Phi_{2}(x)=g(x), \quad x \in \partial \Omega
\end{array}\right.
$$

We let $g(x) \in C^{2}\left(\partial \Omega ; C l_{m}\right)$. Thus, we can determine that $h(x) \in C^{2}\left(\Omega ; C l_{m}\right)$ is a extension of $g(x)$. We assume that $\Phi_{2}(x)=\Psi+h$, where $\Psi$ is a solution of (7). Th, we transform the last boundary value problem into the following problem:

$$
\left\{\begin{array}{l}
\left(\partial_{x}-\lambda\right)^{2} \Psi(x)=\left(\partial_{x}-\lambda\right)^{2} h(x), \quad x \in \Omega  \tag{9}\\
\Psi(x)=0, \quad x \in \partial \Omega
\end{array}\right.
$$

Applying our solution of boundary value Problem (9), we determine that $\Psi=T_{\lambda} Q T_{\lambda}\left(\partial_{x}-\lambda\right)^{2} h$. Note that $P=I-Q$. We can see that

$$
\Psi=-T_{\lambda} Q\left(\partial_{x}-\lambda\right) h+T_{\lambda} Q F_{\lambda}\left(\partial_{x}-\lambda\right) h=-h+T_{\lambda} P\left(\partial_{x}-\lambda\right) h+F_{\lambda} h
$$

Furthermore, we have $\Phi_{2}=\Psi+h=F_{\lambda} g+T_{\lambda} P\left(\partial_{x}-\lambda\right) h$. On noting that if $\Phi_{1}, \Phi_{2}$ are solutions of boundary value Problems (7) and (8), $\Phi=\Phi_{1}+\Phi_{2}$ is a solution of boundary value Problem (6). Thus, it can be seen that

$$
\Phi=F_{\lambda} g+T_{\lambda} P\left(\partial_{x}-\lambda\right) h+T_{\lambda} Q T_{\lambda} f
$$

which completes the proof.

## 6. The Mann Iterative Sequence of Operator $\tilde{F}_{\lambda}$

Definition 6. The integral operator $\tilde{F}$ is defined by

$$
\left(\tilde{F}_{\lambda} f\right)(y)=\mu\left(F_{\lambda} f\right)(y)=\mu \int_{\partial \Omega} E_{\lambda}(x-y) d \sigma_{x} f(x)
$$

where $\Omega \in \mathbf{R}^{m}$ is an m-dimensional compact differentiable and oriented manifold with boundary.
Definition 7 ([16]). Suppose that $A: E \rightarrow E$ is a mapping, where $E$ is a linear subspace. $A$ is defined as the Mann iterative sequence, if for given $x_{1} \in E$, $A$ satisfies $x_{m+1}=\left(1-\beta_{m}\right) x_{m}+$ $\beta_{m} A x_{m},\left\{\beta_{m}\right\} \subset[0,1], m \geq 1$.

Lemma 5 ([17]). Let $\left\{a_{m}\right\},\left\{b_{m}\right\},\left\{c_{m}\right\}$ be non-negative real sequences. Suppose that $\sum_{m=1}^{\infty} t_{m}=\infty$, where $t_{m} \in[0,1]$. If

$$
\left\{\begin{array}{l}
a_{m+1} \leq\left(1-t_{m}\right) a_{m}+b_{m}+c_{m} \\
1 \leq\left(1-t_{m}\right) a_{m}+b_{m}+c_{m} \\
b_{m}=o\left(t_{m}\right) \\
\sum_{m=1}^{\infty} c_{m}<\infty
\end{array}\right.
$$

then

$$
\lim _{m \rightarrow \infty} a_{m}=0
$$

Lemma 6. If $\|f\|_{\alpha} \leq l_{1}$, then $\left\|\tilde{F}_{\lambda} f\right\|_{\alpha} \leq l\|f\|_{\alpha}$, where $l_{1}, l>0$.
Proof of Lemma 6. Note that

$$
\int_{\partial \Omega} E_{\lambda}(x-y) d \sigma_{x}=\frac{1}{2}, \quad y \in \partial \Omega .
$$

Thus, we have

$$
\begin{aligned}
\left|\left(\tilde{F}_{\lambda}^{-} f\right)(y)\right| & =\left|\int_{\partial \Omega} E_{\lambda}(x-y) d \sigma_{x}[f(x)-f(y)]+\int_{\partial \Omega} E_{\lambda}(x-y) d \sigma_{x} f(y)\right| \\
& \leq\left|\int_{\partial \Omega} E_{\lambda}(x-y) d \sigma_{x}[f(x)-f(y)]\right|+\left|\int_{\partial \Omega} E_{\lambda}(x-y) d \sigma_{x} f(y)\right| \\
& \leq l_{2}[M(f, \partial \Omega)+H(f, \partial \Omega, \alpha)] \\
& \leq l_{3}\|f\|_{\alpha}
\end{aligned}
$$

where $l_{2}, l_{3}>0$. From Theorem 2,

$$
\left(\tilde{F}_{\lambda}^{+} f\right)(y)=\left(\tilde{F}_{\lambda}^{-} f\right)(y)+f(y)
$$

It leads us to have

$$
\left|\left(\tilde{F}_{\lambda}^{+} f\right)(y)\right| \leq\left|\left(\tilde{F}_{\lambda}^{-} f\right)(y)\right|+|f(y)| .
$$

It is easy to obtain $\left|\left(\tilde{F}_{\lambda}^{-} f\right)(y)\right| \leq l_{4}\|f\|_{\alpha}$, where $l_{4}>0$. Note that

$$
\left(\tilde{F}_{\lambda} f\right)(y)=\frac{\left(\tilde{F}_{\lambda}^{+} f\right)(y)+\left(\tilde{F}_{\lambda}^{-} f\right)(y)}{2}
$$

Thus, we obtain

$$
\begin{aligned}
& \sup _{y_{1} \neq y_{2}, y_{1}, y_{2} \in \partial \Omega} \frac{\left|\left(\tilde{F}_{\lambda} f\right)\left(y_{1}\right)-\left(\tilde{F}_{\lambda} f\right)\left(y_{2}\right)\right|}{\left\|y_{1}-y_{2}\right\|^{\alpha}} \\
\leq & \frac{1}{2}\left[\sup _{y_{1} \neq y_{2}, y_{1}, y_{2} \in \partial \Omega} \frac{\left|\left(\tilde{F}_{\lambda}^{+} f\right)\left(y_{1}\right)-\left(\tilde{F}_{\lambda}^{+} f\right)\left(y_{2}\right)\right|}{\left|y_{1}-y_{2}\right|^{\alpha}}+\sup _{y_{1} \neq y_{2}, y_{1}, y_{2} \in \partial \Omega} \frac{\left|\left(\tilde{F}_{\lambda}^{-} f\right)\left(y_{1}\right)-\left(\tilde{F}_{\lambda}^{-} f\right)\left(y_{2}\right)\right|}{\left|y_{1}-y_{2}\right|^{\alpha}}\right] .
\end{aligned}
$$

Moreover, we have

$$
\sup _{y \in \partial \Omega}\left|\left(\tilde{F}_{\lambda} f\right)(y)\right| \leq \frac{1}{2}\left[\sup _{y \in \partial \Omega}\left|\left(\tilde{F}_{\lambda}^{+} f\right)(y)\right|+\sup _{y \in \partial \Omega}\left|\left(\tilde{F}_{\lambda}^{-} f\right)(y)\right|\right] .
$$

Thus, we have

$$
\left\|\tilde{F}_{\lambda} f\right\|_{\alpha} \leq \frac{1}{2}\left[\left\|\tilde{F}_{\lambda}^{+} f\right\|_{\alpha}+\left\|\tilde{F}_{\lambda}^{-} f\right\|_{\alpha}\right] \leq l\|f\| .
$$

Therefore, we finish the proof.
Theorem 5. Assume that $E=\left\{f \mid f \in C_{\beta}\left(\partial \Omega ; C l_{m}\right),\|f\|_{\beta} \leq l_{1}, 0<\beta<1\right\}$. Then $\tilde{F}_{\lambda}$ has a unique fixed point in $E$.

Proof of Theorem 5. Note that $E \subset C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$, and $E$ is a closed subspace. Then we obtain $E$ is a Banach space. It is obvious that

$$
\left(\tilde{F}_{\lambda} f\right)(y)=\frac{\left(\tilde{F}_{\lambda}^{+} f\right)(y)+\left(\tilde{F}_{\lambda}^{-} f\right)(y)}{2}
$$

From Theorem 3, we obtain $F_{\lambda} f \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$. By Definition 5, we have $F_{\lambda} f \in C_{\alpha}\left(\partial \Omega ; C l_{m}\right)$. By Lemma 6, we have

$$
\left\|\tilde{F}_{\lambda} f\right\|_{\alpha}=\left\|\mu F_{\lambda} f\right\|_{\alpha}<\|f\|_{\alpha} \leq l_{1} .
$$

So $\tilde{F}_{\lambda}: E \rightarrow E$. For any $f_{1}, f_{2} \in E$,

$$
\left\|\tilde{F}_{\lambda} f_{1}-\tilde{F}_{\lambda} f_{2}\right\|_{\alpha}<l\left\|f_{1}-f_{2}\right\|_{\alpha}
$$

which completes the proof.
That is to say, $\tilde{F}_{\lambda}$ is a contraction mapping in $E$. From the contraction mapping principle in Banach space, we determine that operator $\tilde{F}_{\lambda}$ has a unique fixed point.

Theorem 6. Assume that $\left\{\beta_{m}\right\} \subset[0,1], \sum_{m=1}^{\infty} \beta_{m}=\infty, \lim _{m \rightarrow \infty} \beta_{m}=0$. For a given $f_{1} \in E$,

$$
f_{m+1}=\left(1-\beta_{m}\right) f_{m}+\beta_{m} \tilde{F}_{\lambda} f_{m}, \quad m \geq 1
$$

Then the iterative sequence $\left\{f_{m}\right\}$ strongly converges to the fixed point of operator $\tilde{F}_{\lambda}$.
Proof of Theorem 6. From Theorem 5, we determine that $\tilde{F}_{\lambda}$ has a unique fixed point in $E$. We let $\tilde{F}_{\lambda} f=f$.

$$
\begin{aligned}
\left\|f_{m+1}-f\right\|_{\alpha} & \left.=\left\|\left(1-\beta_{m}\right) f_{m}+\beta_{m} \tilde{F}_{\lambda}\left[f_{m}\right]\right\|_{\alpha}\right] \\
& \leq\left(1-\beta_{m}\right)\left\|f_{m}-f\right\|_{\alpha}+\beta_{m} l\left\|f_{m}-f\right\|_{\alpha} \\
& =\left[1-\beta_{m}(1-l)\right]\left\|f_{m}-f\right\|_{\alpha} .
\end{aligned}
$$

We suppose that $b_{m}=0, c_{m}=0, t_{m}=\beta_{m}(1-l)$. Thus, we have

$$
t_{m} \in[0,1], \sum_{m=1}^{\infty} t_{m}=\infty, b_{m}=o\left(t_{m}\right), \sum_{m=1}^{\infty} c_{m}<\infty .
$$

From Lemma 5, we have the result.

## 7. Conclusions

The theory of singular integral operators has a wide range of applications in almost all areas of physics and engineering such as, for instance, in electromagnetism, optic, elasticity, fluid dynamics, geophysics, theory of orthogonal polynomials, and in asymptotic analysis up to modern quantum field theory. In this paper, we use the theory of singular integral operators to study Riemann-type and Dirichlet-type problems in Clifford analysis. One may further extrapolate these findings to the related boundary value problems in Clifford analysis. Boundary value problems in Clifford analysis have remarkable applications in mathematical physics, the mechanics of deformable bodies, electromagnetism, and relativistic quantum mechanics.

Author Contributions: Writing—original draft, H.Y.; formal analysis, G.S. and X.H. All authors have read and agreed to the published version of the manuscript.

Funding: This work was funded by the Natural Science Foundation of Hebei Province (No. A2022402007), the National Natural Science Foundation of China (No. 11426082), and the Project of Handan Municipal Science and Technology Bureau (No. 19422031008-13).

Data Availability Statement: All the data are present within the manuscript.
Conflicts of Interest: The authors declare no conflicts of interest.

## References

1. Bers, L. Theory of Pseudo-Analytic Functions. Institute of Mathematics and Mechanics. Ph.D. Thesis, New York University, New York, NY, USA, 1953.
2. Vekua, I.N. Generalized Analytic Functions; Nauka: Moscow, Russia, 1959.
3. $\quad \mathrm{Xu}, \mathrm{Z}$. A function theory for the operator $D-\lambda$. Complex Var. 1991, 16, 27-42.
4. Clifford, W.K. Applications of Grassmann's extensive algebra. Am. J. Math. 1878, 1, 350-358. [CrossRef]
5. Brackx, F.; Delanghe, R.; Sommen, F. Clifford Analysis; Res Notes Math; Pitman: London, UK, 1982.
6. Delanghe, F.; Sommen, V. Soucek, V. Clifford Algebra and Spinor-Valued Functions; Kluwer: Dordrecht, The Netherlands, 1992.
7. Huang, S.; Qiao, Y.; Wen, G. Real and Complex Clifford Analysis; Springer: New York, NY, USA, 2005.
8. Chandragiri, S.; Shishkina, O.A. Generalised Bernoulli numbers and polynomials in the context of the Clifford analysis. J. Sib. Fed. Univ. Math. Phys. 2018, 11, 127-136.
9. Obolashvili, E. Partially Differential Equations in Clifford Analysis; Pitman Monographs and Surveys in Pure and Applied Mathematics 96; CRC Press: Boca Raton, FL, USA, 1999.
10. Obolashvili, E. Higher Order Partial Differential Equations in Clifford Analysis: Effective Solutions to Problems; Progess in Mathematieal Physies, 28; Springer: Berlin/Heidelberg, Germany, 2003.
11. Xu, Z. Helmholtz Equations and Boundary Value Problems: Research Notes in Mathematics; Pitman: Harlow, UK, 1992; Volume 262, pp. 204-214.
12. Marius, M. Boundary value problems for Dirac operators and Maxwell's equations in nonsmooth domains. Math. Methods Appl. Sci. 2002, 25, 1355-1369.
13. Yuan, H. Boundary value problems for modified Dirac operators in Clifford analysis. Bound. Value Probl. 2015, 2015, 158. [CrossRef]
14. Bell, W. Special Functions for Scientists and Engineers; Van Nostrand: London, UK, 1968.
15. Gilbert, R.P.; Buchanan, J.L. First Order Elliptic Systems, A Function Theoretic Approach; Academic Press: New York, NY, USA, 1983.
16. Mann, W.R. Mean value methods in iteration. Proc. Am. Math. Soc. 1953, 4, 506-510. [CrossRef]
17. Liu, L. Ishikawa and Mann iterative process with errors for nonlinear strongly accretive mappings in banach spaces. J. Math. Anal. Appl. 1995, 194, 114-125. [CrossRef]

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.

